
200 DUKE WHITE ABS 2013 <2013><EU><F8103M5>
LIGHTING SYSTEM

11043

Pos Part Number Description Additional Text Quantity

1 90114001000 HEAD LIGHT CPL. 1.00

2 90114040000 REAR LIGHT LED 1.00

3 90114047000 LICENSE PLATE ILLUMINATION 1.00

4 90114062000 MASK BRACKET 1.00

5 90114126000 FLASHER CPL. FR. L/S 1.00

6 90114125000 FLASHER CPL. FR. R/S 1.00

7 90114064044 HEAD LIGHT COVER REAR CPL. 1.00

8 90114030000 HEX NUT M10X1,25 4.00

9 76503075100 EXPANDING RIVET CPL. 4.00

10 0081050121 EJOT PT screw K50x12 only for US and SixDays 4.00

11 J031050153 CHEESE-HEAD SCREW M5X15 3.00

12 J081040121 CROSS PAN SCREW 4X12 PH 2.00

13 J025060163 HH COLLAR SCREW M6X16 SW10 2.00

15 90114064010 HINGE JOINT HEADL.-COVER 1.00

16 90114064011 GROMMET MASK CARR. PIVOT BKT 2.00

17 J070080150 SAFETY BOLT 8X1,5 2.00

18 90114064012 SEC. CLIP MASK CARR. PIVOT BKT 2.00

19 49011435100 BULB 12V 5W (W2,1X9,5D) PHIL. 1.00

20 57111038000 BULB H4 12V 60/55W (P43T) USA 1.00

23 J126061252 WASHER 6,5X2 MM 1.00

24 90111079000 HARNESS F. HEADLAMP 1.00

25 90103001036 HOOK BRACKET ABS HOSE 1.00


